

1 minus 1 - 6

$100 - 45 =$

$100 - 63 =$

$100 - 26 =$

$100 - 22 =$

$100 - 12 =$

$100 - 34 =$

$100 - 56 =$

$100 - 46 =$

$100 - 57 =$

$100 - 19 =$

$100 - 27 =$

$100 - 13 =$

$100 - 28 =$

$100 - 69 =$

$100 - 43 =$

$100 - 75 =$

$100 - 21 =$

$100 - 37 =$

$100 - 36 =$

$100 - 94 =$

$100 - 52 =$

$100 - 29 =$

$100 - 62 =$

$100 - 78 =$

$100 - 67 =$

$100 - 55 =$

$100 - 66 =$

$100 - 12 =$

$100 - 35 =$

$100 - 11 =$

$100 - 29 =$

$100 - 47 =$

$100 - 84 =$

$100 - 88 =$

$100 - 40 =$

$100 - 41 =$

$100 - 49 =$

$100 - 31 =$

$100 - 25 =$

$100 - 61 =$

$100 - 71 =$

$100 - 74 =$

$100 - 24 =$

$100 - 51 =$

$100 - 92 =$

$100 - 82 =$

$100 - 42 =$

$100 - 31 =$